VE + k'n?F 4+ vlinp)x (VX E) 4 V(7Iné-E)=0 w

Since  VXVXA = v(vA)-vA (7)
V*a- v(v-A) - vx VXA (/’F@rm;yzhj (7))
VE - VIv-E)-vxVxFE

since  VIng givesr « vectr (lng i scatsr), we canm e
V(A-5): (A 7)8+(8 v)A+Ax(vxE)t Fxlvxi) (4
i the ﬁ//o»«/qj €X/V€ff/bh.' V(V/néfg// Which  tavns 72
7(7Ine E)z (Vin€- V) E 4 (E-7)pine + Flnsx(vx E)+ Ex (VX Vine)
The et Aferm £ X (vxVing) G le neglectd sinee
VX(ve)-o whove £ it a sealar [lke In<) (8)
Viving-2) = [Vin€-v)E + (£ 7)VIng + vine x (VXE)

Next  connider V//n/&\/X/VYE/
14 /n/a j/nwf ~ Vecﬁr/ o we have
Ax(vxB) whre A=Vipts wd B = F
55 we cam  ur (9 4 5
v/A 7)) (A-V)E+(F-v)A+ Ax(vxE)+Ex(vxs)
and  rearanse fh silve 4o A K(VXE)
AxlvxB] = v(7-B)- (Av)E +(E-v)7+ & x[vx4)
V(ing) x (7x2)= V(7 inp-E)- (vinp- VVE + (E-7) Vhnpe # E ¥ (vivinf)



